## **BID SUMMARY**





This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Annual Sidewalk Program 2014-15

PROJECT NO.: 2015.0060 BID NO.: 14-15.007

BID OPENING			ENGINEER'S ESTIMATE AJW Construction		Spencon Construction, Inc.		Rosas Brothers Construction			
ا مروا	l l		Date Approved: 9/11/2014 966 81st Avenue			P.O. Box 1220	uction, mc.	4731 Coliseum Way		
	TIME: 3:00 p.m.	714	Prepared by:	A. Osakwe	Oakland, CA 94	-			Oakland, CA 94601	
	LOCATION: City Clerk's Office		riepared by.	A. OSakwe	Phone: (510) 5		Danville, CA 94526 Phone: (925) 984-2581		1	
	LOCATION. City Clerk's Office				. ,		. ,		Phone: (510) 534-1077	
ITEM	· :			1	Fax: (510) 639-	1376	Fax: (925) 984-	2000	Fax: (510) 534-	5077
ITEM NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
1	Install curb and gutter per drawing 100 case 3101	1200 LF	\$48.00	\$57,600.00	\$50.00	\$60,000.00	\$56.00	\$67,200.00	\$56.00	\$67,200.00
2	Install sidewalk per drawing 100 case 3101	10000 SF	\$12.50	\$125,000.00	\$12.00	\$120,000.00	\$12.00	\$120,000.00	\$13.50	\$135,000.00
3	Install 6" driveway per drawing 102 or drawing 110 case 3101	4000 SF	\$13.50	\$54,000.00	\$13.00	\$52,000.00	\$14.00	\$56,000.00	\$16.00	\$64,000.00
4	Install 8" driveway per drawing 102 or drawing 110 case 3101	600 SF	\$16.00	\$9,600.00	\$13.75	\$8,250.00	\$17.00	\$10,200.00	\$18.00	\$10,800.00
	Install wheelchair curb cut ramp per drawing 106A and B case 3101	4500 SF	\$18.00	\$81,000.00	\$15.00	\$67,500.00	\$15.50	\$69,750.00	\$16.00	\$72,000.00
6	Install depressed driveway approach per drawing 108 case 3101	180 SF	\$16.00	\$2,880.00	\$13.00	\$2,340.00	\$18.00	\$3,240.00	\$16.00	\$2,880.00
	Install basket weave sidewalk per drawing 112 case 3101	300 SF	\$15.00	\$4,500.00	\$13.00	\$3,900.00	\$18.00	\$5,400.00	\$16.00	\$4,800.00
8	Install valley gutter per drawing 114 case 3101	240 SF	\$24.00	\$5,760.00	\$16.00	\$3,840.00	\$24.00	\$5,760.00	\$18.00	\$4,320.00
9	Install stamped concrete paving per drawing 116 case 3101	100 SF	\$21.00	\$2,100.00	\$15.00	\$1,500.00	\$30.00	\$3,000.00	\$20.00	\$2,000.00
10	Install tack on curb per drawing 118 case 3101	50 LF	\$32.00	\$1,600.00	\$25.00	\$1,250.00	\$29.00	\$1,450.00	\$35.00	\$1,750.00
11	Install vertical curb per drawing 118 case 3101	50 LF	\$40.00	\$2,000.00	\$30.00	\$1,500.00	\$70.00	\$3,500.00	\$50.00	\$2,500.00







PROJECT TITLE: Annual Sidewalk Program 2014-15

PROJECT NO.: 2015.0060 BID NO.: 14-15.007 This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

BID C	-			ENGINEER'S ESTIMATE AJW Construction Date Approved: 9/11/2014 966 81st Avenue			Spencon Constru P.O. Box 1220	uction, Inc.	Rosas Brothers Construction 4731 Coliseum Way		
			* * *	Prepared by: A. Osakwe		Oakland, CA 94621		Danville, CA 94526			
	LOCATION: City Clerk's Office	·			Phone: (510) 568-2300		Phone: (925) 984-2581		Oakland, CA 94601 Phone: (510) 534-1077		
İ	u vila se de la companya de la comp La companya de la co	,	1		Fax: (510) 639-1578		Fax: (925) 984-2583		Fax: (510) 534-5077		
ITEM											
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	
12	Grind raised concrete sidewalk to flush with adjacent grade, within 48 hrs of notification	100 LF	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$75.00	\$7,500.00	\$20.00	\$2,000.00	
13	Install cast iron pipe curb drain per drawing 212 case 3101	40 LF	\$24.00	\$960.00	\$15.00	\$600.00	\$70.00	\$2,800.00	\$20.00	\$800.00	
14	Remove and reset pavers at existing tree per drawing 436 case 3101	400 SF	\$18.50	\$7,400.00	\$15.00	\$6,000.00	\$24.00	\$9,600.00	\$12.50	\$5,000.00	
15	Install retrofit frame for tree grate in existing concrete per drawing 438A and B case 3101	1 EA	\$1,750.00	\$1,750.00	\$1,500.00	\$1,500.00	\$1,275.00	\$1,275.00	\$1,500.00	\$1,500.00	
16	Install cast in place frame for tree grate per drawing 438A and B case 3101. Including all steel but excluding concrete	2 EA	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00	\$1,275.00	\$2,550.00	\$2,000.00	\$4,000.00	
17	Install cast iron tree grate per drawing 438A and B case 3101	2 EA	\$1,500.00	\$3,000.00	\$1,200.00	\$2,400.00	\$1,600.00	\$3,200.00	\$2,000.00	\$4,000.00	
18	Remove 4" Concrete and backfill with topsoil	300 SF	\$8.00	\$2,400.00	\$5.00	\$1,500.00	\$10.00	\$3,000.00	\$6.00	\$1,800.00	
19	Provide traffic control plan and implement traffic control per section 7-10.3.3 and 7-10.3.4 with a flashing arrow panel	2 Plans	\$2,150.00	\$4,300.00	\$550.00	\$1,100.00	\$2,500.00	\$5,000.00	\$600.00	\$1,200.00	
20	Provide traffic control plan and implement traffic control per section 7-10.3.3 and 7-10.3.4 without a flashing arrow panel	2 Plans	\$1,750.00	\$3,500.00	\$500.00	\$1,000.00	\$2,500.00	\$5,000.00	\$400.00	\$800.00	







This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Annual Sidewalk Program 2014-15

PROJECT NO.: 2015.0060 BID NO.: 14-15.007

1				AJW Construction 966 81st Avenue		Spencon Construction, Inc. P.O. Box 1220		Rosas Brothers Construction 4731 Coliseum Way		
	·		· · · · · · · · · · · · · · · · · · ·		I .			Danville, CA 94526		•
	LOCATION: City Clerk's Office				Phone: (510) 568-2300		Phone: (925) 984-2581		Oakland, CA 94601 Phone: (510) 534-1077	
1	Education only clother chief				Fax: (510) 639-1578		Fax: (925) 984-2583		Fax: (510) 534-5077	
ITEM	<u> </u>			<u> </u>	Tax. (510) 555	1070	Fax. (925) 964-2565		Fax. (510) 554-5077	
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
21	Remove existing pavers, trim roots, and install decomposed granite at existing tree well	4 EA	\$650.00	\$2,600.00	\$350.00	\$1,400.00	\$900.00	\$3,600.00	\$450.00	\$1,800.00
22	Install decomposed granite at empty tree well	4 EA	\$400.00	\$1,600.00	\$150.00	\$600.00	\$900.00	\$3,600.00	\$400.00	\$1,600.00
23	Remove and replace 2' x 2' of temporary AC patch to allow compaction testing by others	30 EA	\$300.00	\$9,000.00	\$200.00	\$6,000.00	\$125.00	\$3,750.00	\$150.00	\$4,500.00
24	Compact existing base at roadway excavation per section 301-2.	375 SF	\$11.50	\$4,312.50	\$10.00	\$3,750.00	\$10.00	\$3,750.00	\$7.00	\$2,625.00
25	Excavation resurfacing per drawing 122A, B, C case 3101: 6" thickness	500 SF	\$12.50	\$6,250.00	\$10.00	\$5,000.00	\$14.00	\$7,000.00	\$11.00	\$5,500.00
26	Excavation resurfacing per drawing 122A, B, C case 3101: 9" thickness	125 SF	\$15.00	\$1,875.00	\$15.00	\$1,875.00	\$20.00	\$2,500.00	\$15.00	\$1,875.00
27	Excavation resurfacing per drawing 122A, B, C case 3101:12" thickness	125 SF	\$17.00	\$2,125.00	\$20.00	\$2,500.00	\$26.00	\$3,250.00	\$18.00	\$2,250.00
28	Furnish and install bicycle racks including concrete slabs per drawing 618 case 3101	15 EA	\$900.00	\$13,500.00	\$300.00	\$4,500.00	\$980.00	. \$14,700.00	\$1,000.00	\$15,000.00
29	Furnish and install pedestrian benches, including concrete slabs. Bench shall be: OCCOutdoor Code: BIBen-V-AR- 6	10 EA	\$3,000.00	\$30,000.00	\$800.00	\$8,000.00	\$1,650.00	\$16,500.00	\$2,500.00	\$25,000.00







This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Annual Sidewalk Program 2014-15

PROJECT NO.: 2015.0060 BID NO.: 14-15.007

BID OPENING E		ENGINEER'S ESTIMATE		AJW Construction		Spencon Construction, Inc.		Rosas Brothers Construction		
	DATE: Wednesday, October 8, 2	014	Date Approved: 9/11/2014		966 81st Avenue		P.O. Box 1220		4731 Coliseum Way	
	TIME: 3:00 p.m.		Prepared by:	A. Osakwe	Oakland, CA 94	4621	Danville, CA 94	1526	Oakland, CA 94	1601
	LOCATION: City Clerk's Office				Phone: (510) 5	68-2300	Phone: (925) 9	84-2581	Phone: (510) 53	34-1077
					Fax: (510) 639-	1578	Fax: (925) 984-	-2583	Fax: (510) 534-	5077
ITEM	·									
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST	UNIT COST	ITEM COST
		TOTAL BASE BID:		\$445,612.50		\$374,805.00		\$444,075.00		\$448,500.00
		SUBCONTRACTORS:			None		Economy Truc	king	Bay Line	
		SECURITIES:		-	10% Bid Bond		10% Bid Bond		10% Bid Bond	
		NOTES:								

Reviewed by:

Date:

ite: 10/9/14

Reviewed by:

Date: 10 | 9

Ken Joseph, City Engineer

## **BID SUMMARY**





This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding information.

PROJECT TITLE: Annual Sidewalk Program 2014-15

PROJECT NO.: 2015.0060 BID NO.: 14-15.007

BID OPENING	3
-------------	---

DATE: Wednesday, October 8, 2014

TIME: 3:00 p.m.

LOCATION: City Clerk's Office

## **ENGINEER'S ESTIMATE**

Date Approved: 9/11/2014
Prepared by: A. Osakwe

JJR Construction, Inc. 1120 Ninth Avenue San Mateo, CA 94402

Phone: (650) 343-6109 Fax: (650) 343-6207

			<u></u>		[Fax: (650) 343-6207	
TEM NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST
1	Install curb and gutter per drawing 100 case 3101	1200 LF	\$48.00	\$57,600.00	\$93.55	\$112,260.00 **
2	Install sidewalk per drawing 100 case 3101	10000 SF	\$12.50	\$125,000.00	\$14.22	\$142,200.00
3	Install 6" driveway per drawing 102 or drawing 110 case 3101	4000 SF	\$13.50	\$54,000.00	\$21.68	\$86,720.00
4	Install 8" driveway per drawing 102 or drawing 110 case 3101	600 SF	\$16.00	\$9,600.00	\$28.90	\$17,340.00
5	Install wheelchair curb cut ramp per drawing 106A and B case 3101	4500 SF	\$18.00	\$81,000.00	\$19.90	\$89,550.00
6	Install depressed driveway approach per drawing 108 case 3101	180 SF	\$16.00	. \$2,880.00	\$25.70	\$4,626.00
7	Install basket weave sidewalk per drawing 112 case 3101	300 SF	\$15.00	\$4,500.00	\$17.00	\$5,100.00
8	Install valley gutter per drawing 114 case 3101	240 SF	\$24.00	\$5,760.00	\$48.90	\$11,736.00
9	Install stamped concrete paving per drawing 116 case 3101	100 SF	\$21.00	\$2,100.00	\$23.12	\$2,312.00
10	Install tack on curb per drawing 118 case 3101	50 LF	\$32.00	\$1,600.00	\$23.12	\$1,156.00
11	Install vertical curb per drawing 118 case 3101	50 LF	\$40.00	\$2,000.00	\$71.12	\$3,556.00



information.

This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding





PROJECT TITLE: Annual Sidewalk Program 2014-15

PROJECT NO.: 2015.0060 BID NO.: 14-15.007

**BID OPENING** DATE: Wednesday, October 8, 2014

TIME: 3:00 p.m.

LOCATION: City Clerk's Office

ENGINEER'S ESTIMATE

Date Approved: 9/11/2014 Prepared by: A. Osakwe JJR Construction, Inc. 1120 Ninth Avenue San Mateo, CA 94402 Phone: (650) 343-6109

Eax: (650) 343-6207

					Fax: (650) 343-6	3207
ITEM NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST
12	Grind raised concrete sidewalk to flush with adjacent grade, within 48 hrs of notification	100 LF	\$20.00	\$2,000.00	\$30.00	\$3,000.00
13	Install cast iron pipe curb drain per drawing 212 case 3101	40 LF	\$24.00	\$960.00	\$50.00	\$2,000.00
14	Remove and reset pavers at existing tree per drawing 436 case 3101	400 SF	\$18.50	\$7,400.00	\$20.00	\$8,000.00
15	Install retrofit frame for tree grate in existing concrete per drawing 438A and B case 3101	1 EA	\$1,750.00	\$1,750.00	\$1,500.00	\$1,500.00
16	Install cast in place frame for tree grate per drawing 438A and B case 3101. Including all steel but excluding concrete	2 EA	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00
17	Install cast iron tree grate per drawing 438A and B case 3101	2 EA	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00
18	Remove 4" Concrete and backfill with topsoil	300 SF	\$8.00	\$2,400.00	\$10.00	\$3,000.00
19	Provide traffic control plan and implement traffic control per section 7-10.3.3 and 7-10.3.4 with a flashing arrow panel	2 Plans	\$2,150.00	\$4,300.00	\$1,500.00	\$3,000.00
20	Provide traffic control plan and implement traffic control per section 7-10.3.3 and 7-10.3.4 without a flashing arrow panel	2 Plans	\$1,750.00	\$3,500.00	\$1,500.00	\$3,000.00



information.

This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding





PROJECT TITLE: Annual Sidewalk Program 2014-15

PROJECT NO.: 2015.0060 BID NO.: 14-15.007

BID OPENING

DATE: Wednesday, October 8, 2014

**TIME:** 3:00 p.m.

LOCATION: City Clerk's Office

ENGINEER'S ESTIMATE

Date Approved: 9/11/2014

Prepared by: A. Osakwe

JJR Construction, Inc. 1120 Ninth Avenue

San Mateo, CA 94402 Phone: (650) 343-6109

	LOCATION: City Clerk's Office	a. Sky slanke smale				3-6109 5207
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST
21	Remove existing pavers, trim roots, and install decomposed granite at existing tree well	4 EA	\$650.00	\$2,600.00	\$500.00	\$2,000.00
22	Install decomposed granite at empty tree well	4 EA	\$400.00	\$1,600.00	\$300.00	\$1,200.00
23	Remove and replace 2' x 2' of temporary AC patch to allow compaction testing by others	30 EA	\$300.00	\$9,000.00	\$600.00	\$18,000.00 *
24	Compact existing base at roadway excavation per section 301-2.	375 SF	\$11.50	\$4,312.50	\$5.00	\$1,875.00
25	Excavation resurfacing per drawing 122A, B, C case 3101: 6" thickness	500 SF	\$12.50	\$6,250.00	\$18.00	\$9,000.00
26	Excavation resurfacing per drawing 122A, B, C case 3101: 9" thickness	125 SF	\$15.00	\$1,875.00	\$26.00	\$3,250.00
27	Excavation resurfacing per drawing 122A, B, C case 3101:12" thickness	125 SF	\$17.00	\$2,125.00	\$36.00	\$4,500.00
28	Furnish and install bicycle racks including concrete slabs per drawing 618 case 3101	15 EA	\$900.00	\$13,500.00	\$1,200.00	\$18,000.00
29	Furnish and install pedestrian benches, including concrete slabs. Bench shall be: OCCOutdoor Code: BIBen-V-AR- 6	10 EA	\$3,000.00	\$30,000.00	\$2,500.00	\$25,000.00



information.

This document is a summary of bids received for the subject project and are provided only as a convenience. Listing of a particular bid is not a finding that such bid has been found to be responsive or accepted as complete by the City. An award of contract, if any, is subject to approval of the City Council and/or the City Manager. Contractors should refer to the contract documents for bidding





PROJECT TITLE: Annual Sidewalk Program 2014-15

PROJECT NO.: 2015.0060 BID NO.: 14-15.007

	שו עום	14-15.007				
BID C	PENING	<b>ENGINEER'S</b>	ESTIMATE	JJR Construction, Inc.		
	DATE: Wednesday, October 8, 2	Date Approved:	9/11/2014	1120 Ninth Ave	nue	
	TIME: 3:00 p.m.		Prepared by:	A. Osakwe	San Mateo, CA	94402
	LOCATION: City Clerk's Office				Phone: (650) 3	43-6109
					Fax: (650) 343-	-6207
ITEM						
NO.	ITEM	QUANTITY	UNIT COST	ITEM COST	UNIT COST	ITEM COST
			-			
		TOTAL BASE BID:		\$445,612.50		\$588 <u>,</u> 881.00 **
		SUBCONTRACTORS:			None	
		SECURITIES:		~	10% Bid Bond	
		NOTES:			** Math Error C	orrected
		.^				

Reviewed by:

\_\_\_ Date

Reviewed by:

Ken Joseph, City Engineer